STGEE FARENBRE 5A24A(2) (HAEEH 2% 81%)

%1 HaE 2 % BEEC 7T K4y 1.9% % 4 Bk 2 ik FEEC 6 K4y 1.9%
o | HIE | BE 5 4 HAL | H OB mEEs|  (HE ah | B | BEF 5 4 SN |H OB mEss|  {FS
O 1 4 |BATANF 2:37.3 | 470 | 209 O 1 2 |[¥FYhreAa 2:35.2 | 470 73
@) 2 5 |TTEURTLIY 2:41.2 | 490 7 O 2 4 |reAFTL 2:38.0 | 490 | 286
O 3 7 |[YzAerfr 2:42.5 | 470 154 O 3 6 |[7—RIATH 3:18.2 | 490 2
O 4 6 |IAFLLF 3:02.7 | 470 | 325 O 4 5 |kL—7F 3:20.9 | 470 193
@) 5 2 | RIRUF LT 4:13.6 490 316 iR Hik | 1 |(YIFITFAT 490 196

Bk | 1 | awoy 490 | 252 gk | 3 |2inmy 490 | 347
Hik | 3 |[P=AUET Y 470 164

W2 mk 2 % SEEC 7 K4Sy 1.9% % 5 Bk 2 i SEEC 7 KGy  1.9%
| A | BE 5 % HAL |E OB wEEs 65 o | HIE | BE b5} % HAL  |E OB wgEs 55
O 1 7 |FIIATT 2:39.4 | 470 | 213 (@) 1 6 |VrAhT— 2:40.1 | 470 | 143
O 2 5 |[F=UIFHT 2:40.4 | 470 | 245 O 2 4 | TTESRI 2:45.3 | 470 14
O 3 6 |AZ—FrrL 2:40.7 | 470 | 185 (@) 3 3 INAIYIIT 2:47.1 | 470 | 223
O 4 3 |\VANITGATY 2:54.7 | 470 | 220 (@) 4 1 |ZURZ AT za— 3:10.6 | 490 94
O 5 2 |rEIvysA 3:01.2 | 470 | 102 (@) 5 5 |[FLITAFIV 3:37.3 | 490 | 277
O 6 4 | ATFHAIIL 3:13.7 | 490 35 (@) 6 7 |MFTR 3:43.9 | 470 | 236

fiik | 1 [ZRA—AF 470 | 365 gk | 2 \RuFvhYhy T 490 | 231

%3 ik 2 % GEMC 7T kGy  1.9% %6 Bk 2 % Sk 6 K4y 2.0%
o | HIE | BE 5 4 BAL | H OB wmaEs| an | HIE | BEF 5 % HAL|H | waEs|  HE
O 1 3 |TTEURNTTY— 2:19.9 | 490 12 @) 1 7 | ATXIHVF 2:39.8 | 490 38
O 2 2 |rvFrH—aya 2:22.3 | 470 | 239 (@) 2 3 (AL F AT 3:01.9 | 490 58
O 3 6 |YHNIAIE 2:37.8 | 490 | 216 (@) 3 1 |7 3:04.1 | 490 | 227
O 4 1 |ZUREAE A — 2:42.5 | 470 98 (@) 4 6 |[wAFTUH—L 3:37.5 | 470 | 367
O 5 5 [AF=Y 3:20.2 | 490 29 k| 2 |mrwAa R 470 | 346
@] 6 4 |a7 3:37.0 | 470 | 103 k| 4 |BRRT— 470 | 192

7 7 |[¥xAaT— 5:14.1 470 161 Y | 5 |[ZVLARATAT 470 266




7Bk 2 5 BEE 7T KRGy 2.0% % 10 ik 2 57 GHEL 7T K4y 2.0%

HE | HE 5 4 HAL | H R mEEs| (B ah | B | BE 5 4 HAL | HOR|mxEs|  HE
1 1 |YxAETUH 2:32.3 | 470 | 153 @) 1 L |7 A3IAR 2:45.2 | 470 | 112

2 6 |A—s8—=ZL—h 2:53.8 | 490 | 176 O 2 3 | TTESRAT AL 3:29.6 | 490 3

3 3 | AA—RT = 3:10.9 | 470 | 190 O 3 4 | Ty—z=TTA 3:32.8 | 470 | 224

4 4 [Pz ARV — 4:02.8 | 490 | 158 4 7 | UHLIRUEN 4:27.6 | 490 | 218

5 T e 4:08.5 | 470 84 5 (IR VAVES 5:13.9 | 470 | 329

6 5 | rYRAL 4:08.9 | 490 | 121 k| 2 |FevkTr 470 | 226

fik | 2 |FvoArT 470 60 ik | 5 | TLAAFLY 490 | 276

8 ik 2 54 SRS T K4y 2.0% %11 Hk 2 % SR 5 K4y 2.0%
FHE | BE 5 % AL |E OB wgEs| (5SS o | A | BE 5 % HAL | H OB mEEs| fi§E
1 3 |TYTIvs 2:19.0 | 490 | 369 (@) 1 1 |¥&/3uvs 2:35.8 | 490 74

2 4 |[Pv= 2:30.7 | 470 | 361 (@) 2 5 |Zn= 2:53.3 | 470 | 370

3 1 |eFsr1—r 2:47.1 | 470 | 260|Z2/V25m (@) 3 3 |V 2:56.4 | 470 | 200

4 T |wRARE—DAVF 3:10.3 | 490 | 306 (@) 4 2 |YxA3IT) 3:16.4 | 470 | 162

fiik | 2 |wadkesBR 490 | 317 k| 6 |[TuPiaF 490 | 173

ik | 5 |arvIiVaL 470 | 345 Bl | 4 |[A=osvaX 490 56

fiik | 6 | A= e— 470 | 175

9 ik 2 % S T KRSy 2.0% %12 Fik 2 % S 6 Ky 2.0%
FHE | HE 5 E4 BAL | H OB wuEs  fE 66 | HE | BE 5 % BAL|H OB meEn|  §E
1 3 |TTEURFICL 3:02.4 | 490 6 @) 1 6 |7TIxA— 2:43.5 | 490 26

2 T\ BYIXITF AT 3:06.7 | 490 | 368 @) 2 3 (LAYR 3:02.2 | 470 | 356

3 6 |F—LRTFT— 3:06.9 | 470 | 114 (@) 3 4 [ERILRR 3:18.5 | 470 | 259

4 5 |VzAnE— 3:17.8 | 490 | 152 O 4 2 |\ EHTT4—T 7 3:30.1 | 470 | 208

5 4 [Pz AR 3:54.5 | 490 | 159 G R e 490 | 157

Fik | 1 |rehEA T 470 371 Hik | 5 (ZT9Tvavs 470 92

ik | 2 [AUFZATR 470 30




